



**Delhi Technological University**  
(Formerly Delhi College of Engineering)

**THE RESULT OF THE CANDIDATE WHO APPEARED IN THE FOLLOWING EXAMINATION HELD IN NOV 2025 IS DECLARED AS UNDER:-**

**Bachelor of Technology(Mechanical Engineering With Specialization in Automotive Engineering), III-SEMESTER**

**Result Declaration Date : 12-Feb-2026**

**Notification No: 1932**

AE203m : Thermodynamics						
Sr.No	Roll No.	Name of Student	AE203m	SGPA	TC	Failed Courses
			4.00			
1	23/AE/044	PARMANAND SHARMA	P	6.25	24	

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Kinematics of Machines AE209n : Fluid Mechanics and Machines										
Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	SGPA	TC	Failed Courses
			4.00	4.00	4.00	4.00	4.00			
2	23/AE/042	MOHD ANAS	F	F	F	F	F	0.41	2	AE201m AE205m AE207m AE209m AE201n AE203n AE205n AE207n AE209n

AE201m : Quantitative Techniques AE203m : Thermodynamics							
Sr.No	Roll No.	Name of Student	AE201m	AE203m	SGPA	TC	Failed Courses
			4.00	4.00			
3	23/AE/062	SHASHWAT SAXENA	P	F	1.42	6	AE203m AE205m AE207m AE209m AEC20

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Kinematics of Machines AE209n : Fluid Mechanics and Machines MS299n : Community Engagement (Mentoring School Students) VAC24n : Universal Human Values: Understanding Harmony												
Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	MS299n	VAC24n	SGPA	TC	Failed Courses
			4.00	4.00	4.00	4.00	4.00	2.00	2.00			
4	24/AE/008	AMAN CHAIN	C	F	F	B	C	A	A+	4.08	16	AE203n AE205n

**OIC (Results)**

**Controller of Examination**

**Note:**Any discrepancy in the result in r/o name/roll no/registration/marks/grades/course code/title should be brought to the notice of Controller of Examination/OIC(Results) within 15 days of declaration of result, in the prescribed proforma.



**Delhi Technological University**  
(Formerly Delhi College of Engineering)

**THE RESULT OF THE CANDIDATE WHO APPEARED IN THE FOLLOWING EXAMINATION HELD IN NOV 2025 IS DECLARED AS UNDER:-**

**Bachelor of Technology(Mechanical Engineering With Specialization in Automotive Engineering), III-SEMESTER**

Result Declaration Date : 12-Feb-2026

Notification No: 1932

5	24/AE/013	ARYAMAN MALHOTRA	F	F	F	F	F	F	F	0.00	0	MS299n VAC24n AE201n AE203n AE205n AE207n AE209n
6	24/AE/020	AYUSH SAHNI	A+	A	B+	A	A	A+	B+	8.00	24	
7	24/AE/023	CHAITANYA GOLA	B+	C	B+	A+	B+	A+	P	6.92	24	
8	24/AE/061	SHASANT SHARMA	A+	B+	A	A	A+	A	A+	8.25	24	
9	24/AE/069	SUBHAM SAI PANDA	F	B+	C	B+	B+	F	B+	4.92	18	MS299n AE201n

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Kinematics of Machines AE209n : Fluid Mechanics and Machines MS299n : Community Engagement (Mentoring School Students) VAC43n : Meditation and Conscious Living

Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	MS299n	VAC43n	SGPA	TC	Failed Courses
			4.00	4.00	4.00	4.00	4.00	2.00	2.00			
10	24/AE/038	MONI KUMARI	A	A	B+	A	A	A	A	7.83	24	
11	24/AE/048	PRAGUNYA DANG	O	O	O	O	O	A+	O	9.92	24	

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Kinematics of Machines AE209n : Fluid Mechanics and Machines AEC4n : Business Communication and Presentation Skills MS299n : Community Engagement (Mentoring School Students)

Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	AEC4n	MS299n	SGPA	TC	Failed Courses
			4.00	4.00	4.00	4.00	4.00	2.00	2.00			
12	24/AE/015	ARYAN PRATAP SINGH	O	A+	A+	O	A+	B+	A+	9.17	24	
13	24/AE/042	NIKHIL KUMAR	A+	B+	A	A+	A+	B	A+	8.25	24	
14	24/AE/043	NISHANT RANJAN SHARMA	B+	B	B+	B	A	A	A+	7.08	24	
15	24/AE/051	PRIYANSHU ANAND	A	B+	A	B+	A+	A+	A	7.92	24	

OIC (Results)

Controller of Examination

**Note:** Any discrepancy in the result in r/o name/roll no/registration/marks/grades/course code/title should be brought to the notice of Controller of Examination/OIC(Results) within 15 days of declaration of result, in the prescribed proforma.



**Delhi Technological University**  
(Formerly Delhi College of Engineering)

**THE RESULT OF THE CANDIDATE WHO APPEARED IN THE FOLLOWING EXAMINATION HELD IN NOV 2025 IS DECLARED AS UNDER:-**

**Bachelor of Technology(Mechanical Engineering With Specialization in Automotive Engineering), III-SEMESTER**

Result Declaration Date : 12-Feb-2026

Notification No: 1932

16	24/AE/067	SHREYAS KUMAR	O	B+	A+	A	A	A	A+	8.42	24	
----	-----------	---------------	---	----	----	---	---	---	----	------	----	--

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Kinematics of Machines AE209n : Fluid Mechanics and Machines MS299n : Community Engagement (Mentoring School Students) VAC11n : Leadership Through Self-Management

Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	MS299n	VAC11n	SGPA	TC	Failed Courses
			4.00	4.00	4.00	4.00	4.00	2.00	2.00			
17	24/AE/014	ARYAN JAIN	O	A	O	A+	O	A	A+	9.25	24	
18	24/AE/026	DIVYANSH SINGH	B	B+	A	A+	A	A+	A+	7.83	24	
19	24/AE/037	MANAN GARG	A+	A+	O	O	O	A	A+	9.42	24	
20	24/AE/040	NEEV KHUDANIYA	B+	B	A	B+	A	A+	A	7.42	24	
21	24/AE/055	ROSHAN KUMAR	B	F	F	F	B+	O	A	3.67	12	AE203n AE205n AE207n
22	24/AE/058	SAMRIDH NAGPAL	A	B	B	A	B+	A	A	7.17	24	

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Kinematics of Machines AE209n : Fluid Mechanics and Machines MS299n : Community Engagement (Mentoring School Students) VAC27n : Introduction to Environmental Science

Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	MS299n	VAC27n	SGPA	TC	Failed Courses
			4.00	4.00	4.00	4.00	4.00	2.00	2.00			
23	24/AE/002	ABHINAV JHA	A	B+	B+	A	B+	A	B+	7.42	24	
24	24/AE/004	ABHYASTHA JAIN	A+	A	A+	A+	A+	A	A	8.67	24	
25	24/AE/006	ADITYA RAJORA	B	F	B	B	B+	A+	B	5.42	20	AE203n
26	24/AE/010	AMAN SINGH	O	A+	A	A+	O	A	A+	9.08	24	
27	24/AE/011	AMRIT	B+	B	A	A	B+	A	A	7.33	24	
28	24/AE/025	DHRUV LOHIYA	O	O	O	O	A+	A	O	9.67	24	

OIC (Results)

Controller of Examination

**Note:**Any discrepancy in the result in r/o name/roll no/registration/marks/grades/course code/title should be brought to the notice of Controller of Examination/OIC(Results) within 15 days of declaration of result, in the prescribed proforma.



**Delhi Technological University**  
(Formerly Delhi College of Engineering)

**THE RESULT OF THE CANDIDATE WHO APPEARED IN THE FOLLOWING EXAMINATION HELD IN NOV 2025 IS DECLARED AS UNDER:-**

**Bachelor of Technology(Mechanical Engineering With Specialization in Automotive Engineering), III-SEMESTER**

Result Declaration Date : 12-Feb-2026

Notification No: 1932

29	24/AE/027	FAIZ UR REHMAN	B+	C	B+	F	B	A+	B	5.42	20	AE207n
30	24/AE/030	HUSSAIN ABBAS ZAIDI	A	C	A	B+	B	A+	C	6.83	24	
31	24/AE/031	IMTIYAZ ALAM	A+	B+	A+	A	A+	A	B	8.17	24	
32	24/AE/041	NIKHIL DUBEY	A+	A	A	A	A+	A+	B+	8.33	24	
33	24/AE/045	PARAS YADAV	B+	B+	B	B	B	A	B	6.50	24	
34	24/AE/053	PUSHKAR	B	B	B+	B	B+	B	C	6.25	24	
35	24/AE/054	ROHIT KUMAR	B+	C	B+	F	B	A	C	5.25	20	AE207n
36	24/AE/059	SARA GUPTA	B+	B+	A+	A+	B	A+	P	7.42	24	
37	24/AE/070	SUMIT	A	A	B+	B+	A	A+	A	7.75	24	
38	24/AE/071	TANISHQ GOGIA	F	F	F	F	C	F	C	1.25	6	MS299n AE201n AE203n AE205n AE207n
39	24/AE/076	VIKAS GUPTA	A	C	B+	P	B+	A+	B	6.42	24	

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Kinematics of Machines AE209n : Fluid Mechanics and Machines MS299n : Community Engagement (Mentoring School Students) VAC10n : INTRODUCTION TO BIOLOGICAL SCIENCE

Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	MS299n	VAC10n	SGPA	TC	Failed Courses
			4.00	4.00	4.00	4.00	4.00	2.00	2.00			
40	24/AE/032	JAISNAV KRISHNA	A	O	O	A+	P	A	A	8.17	24	
41	24/AE/034	KUNAL TEGWAL	B+	B	B+	C	B	A	C	6.25	24	

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Kinematics of Machines AE209n : Fluid Mechanics and Machines AEC10n : German MS299n : Community Engagement (Mentoring School Students)

OIC (Results)

Controller of Examination

**Note:**Any discrepancy in the result in r/o name/roll no/registration/marks/grades/course code/title should be brought to the notice of Controller of Examination/OIC(Results) within 15 days of declaration of result, in the prescribed proforma.



**Delhi Technological University**  
(Formerly Delhi College of Engineering)

**THE RESULT OF THE CANDIDATE WHO APPEARED IN THE FOLLOWING EXAMINATION HELD IN NOV 2025 IS DECLARED AS UNDER:-**

**Bachelor of Technology(Mechanical Engineering With Specialization in Automotive Engineering), III-SEMESTER**

**Result Declaration Date : 12-Feb-2026**

**Notification No: 1932**

Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	AEC10n	MS299n	SGPA	TC	Failed Courses
			4.00	4.00	4.00	4.00	4.00	4.00	2.00			
42	24/AE/036	LALIT KUMAR	B+	B	F	A	A	C	A+	6.00	20	AE205n
43	24/AE/044	NITAAI NARAYAN AGRAWAL	A	B+	B+	B+	P	A	A+	6.92	24	

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Kinematics of Machines AE209n : Fluid Mechanics and Machines AEC13n : Logical Reasoning MS299n : Community Engagement (Mentoring School Students)

Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	AEC13n	MS299n	SGPA	TC	Failed Courses
			4.00	4.00	4.00	4.00	4.00	2.00	2.00			
44	24/AE/072	VANSH KUMAR	A	A	B+	A	A+	C	A+	7.83	24	

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Kinematics of Machines AE209n : Fluid Mechanics and Machines AEC25n : Entrepreneurship Development MS299n : Community Engagement (Mentoring School Students)

Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	AEC25n	MS299n	SGPA	TC	Failed Courses
			4.00	4.00	4.00	4.00	4.00	2.00	2.00			
45	24/AE/018	AYUSH KUMAR	A+	A+	A	A	A+	A+	A+	8.67	24	
46	24/AE/021	AYUSH SINGH JADAUN	B	F	F	B	F	B	F	2.50	10	MS299n AE203n AE205n AE209n

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Kinematics of Machines AE209n : Fluid Mechanics and Machines MS299n : Community Engagement (Mentoring School Students) VAC6n : Extension Outreach Activities

**OIC (Results)**

**Controller of Examination**

**Note:**Any discrepancy in the result in r/o name/roll no/registration/marks/grades/course code/title should be brought to the notice of Controller of Examination/OIC(Results) within 15 days of declaration of result, in the prescribed proforma.



**Delhi Technological University**  
(Formerly Delhi College of Engineering)

**THE RESULT OF THE CANDIDATE WHO APPEARED IN THE FOLLOWING EXAMINATION HELD IN NOV 2025 IS DECLARED AS UNDER:-**

**Bachelor of Technology(Mechanical Engineering With Specialization in Automotive Engineering), III-SEMESTER**

**Result Declaration Date : 12-Feb-2026**

**Notification No: 1932**

Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	MS299n	VAC6n	SGPA	TC	Failed Courses
			4.00	4.00	4.00	4.00	4.00	2.00	2.00			
47	24/AE/003	ABHISTH KHANTWAL	A+	A+	O	A	A+	A	A+	8.92	24	
48	24/AE/028	GOURAV SONI	A	B+	A+	B+	A	A	A+	7.92	24	
49	24/AE/046	PIYUSH VERMA	A+	B+	B+	A	A	O	A+	8.08	24	

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Kinematics of Machines AE209n : Fluid Mechanics and Machines AEC11n : Soft Skills and Personality Development MS299n : Community Engagement (Mentoring School Students)

Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	AEC11n	MS299n	SGPA	TC	Failed Courses
			4.00	4.00	4.00	4.00	4.00	2.00	2.00			
50	24/AE/035	KUSHAGRA	A	B+	A	A+	A	O	A	8.17	24	
51	24/AE/049	PRATEEK YADAV	A	A	A+	A+	A	O	A+	8.58	24	

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Kinematics of Machines AE209n : Fluid Mechanics and Machines MS299n : Community Engagement (Mentoring School Students) VAC25n : Value Driven Leadership

Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	MS299n	VAC25n	SGPA	TC	Failed Courses
			4.00	4.00	4.00	4.00	4.00	2.00	2.00			
52	24/AE/068	SHRISH KUMAR SINGH CHAUHAN	A	O	B+	A	A	A+	A	8.25	24	
53	24/AE/074	VATSAL VASHISTH	A+	A	O	A+	A+	A	O	9.00	24	

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Kinematics of Machines AE209n : Fluid Mechanics and Machines MS299n : Community Engagement (Mentoring School Students) VAC21n : Sports II

**OIC (Results)**

**Controller of Examination**

**Note:**Any discrepancy in the result in r/o name/roll no/registration/marks/grades/course code/title should be brought to the notice of Controller of Examination/OIC(Results) within 15 days of declaration of result, in the prescribed proforma.



**Delhi Technological University**  
(Formerly Delhi College of Engineering)

THE RESULT OF THE CANDIDATE WHO APPEARED IN THE FOLLOWING EXAMINATION HELD IN NOV 2025 IS DECLARED AS UNDER:-

**Bachelor of Technology(Mechanical Engineering With Specialization in Automotive Engineering), III-SEMESTER**

Result Declaration Date : 12-Feb-2026

Notification No: 1932

Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	MS299n	VAC21n	SGPA	TC	Failed Courses
			4.00	4.00	4.00	4.00	4.00	2.00	2.00			
54	24/AE/009	AMAN SHANDILYA	B	C	B	F	B+	A+	A+	5.50	20	AE207n

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Kinematics of Machines AE209n : Fluid Mechanics and Machines MS299n : Community Engagement (Mentoring School Students) VAC29n : Physical Education & Sports

Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	MS299n	VAC29n	SGPA	TC	Failed Courses
			4.00	4.00	4.00	4.00	4.00	2.00	2.00			
55	24/AE/012	ARNAV ARYA	B+	C	F	F	B	A+	A+	4.50	16	AE205n AE207n
56	24/AE/024	DAKSH	B+	B+	A	A	B+	A+	B+	7.50	24	

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Kinematics of Machines AE209n : Fluid Mechanics and Machines MS299n : Community Engagement (Mentoring School Students) VAC22n : Universal Human Values: I Self-Family

Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	MS299n	VAC22n	SGPA	TC	Failed Courses
			4.00	4.00	4.00	4.00	4.00	2.00	2.00			
57	24/AE/017	AVINASH	B+	F	F	F	B	A+	B	3.42	12	AE203n AE205n AE207n
58	24/AE/019	AYUSH KUMAR	A+	O	A+	A+	A+	A+	O	9.25	24	
59	24/AE/062	SHASHWAT	B+	A	O	O	A+	A	A+	8.75	24	
60	24/AE/063	SHIVAM KUMAR	B+	F	F	F	B+	A	B	3.50	12	AE203n AE205n AE207n
61	24/AE/064	SHIVANSH RAJ	A	B+	B	C	B+	A	A	6.83	24	
62	24/AE/065	SHRAWAN KUMAR	B+	F	B+	F	B	A+	B+	4.67	16	AE203n AE207n

OIC (Results)

Controller of Examination

**Note:**Any discrepancy in the result in r/o name/roll no/registration/marks/grades/course code/title should be brought to the notice of Controller of Examination/OIC(Results) within 15 days of declaration of result, in the prescribed proforma.



**Delhi Technological University**  
(Formerly Delhi College of Engineering)

**THE RESULT OF THE CANDIDATE WHO APPEARED IN THE FOLLOWING EXAMINATION HELD IN NOV 2025 IS DECLARED AS UNDER:-**

**Bachelor of Technology(Mechanical Engineering With Specialization in Automotive Engineering), III-SEMESTER**

Result Declaration Date : 12-Feb-2026

Notification No: 1932

63	24/AE/075	VEDANG	F	F	F	P	B	B+	A	2.92	12	AE201n AE203n AE205n
----	-----------	--------	---	---	---	---	---	----	---	------	----	----------------------

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Kinematics of Machines AE209n : Fluid Mechanics and Machines MS299n : Community Engagement (Mentoring School Students) VAC13n : Negotiation & Leadership												
Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	MS299n	VAC13n	SGPA	TC	Failed Courses
			4.00	4.00	4.00	4.00	4.00	2.00	2.00			
64	24/AE/022	BHAVYA ATMAN	F	F	F	F	F	F	F	0.00	0	MS299n VAC13n AE201n AE203n AE205n AE207n AE209n

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Kinematics of Machines AE209n : Fluid Mechanics and Machines AEC18n : Spoken Skills in English MS299n : Community Engagement (Mentoring School Students)												
Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	AEC18n	MS299n	SGPA	TC	Failed Courses
			4.00	4.00	4.00	4.00	4.00	2.00	2.00			
65	24/AE/029	HARSHIT KASHYAP	O	A+	A+	O	O	A+	A+	9.50	24	
66	24/AE/057	SAMARTH SHRIVASTAV	A+	A+	A+	O	A	A+	A	8.92	24	

AE201n : Quantitative Techniques AE203n : Thermodynamics AE207n : Kinematics of Machines AE209n : Fluid Mechanics and Machines AEC8n : Music MS299n : Community Engagement (Mentoring School Students) VAC24n : Universal Human Values: Understanding Harmony												
Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE207n	AE209n	AEC8n	MS299n	VAC24n	SGPA	TC	Failed Courses
			4.00	4.00	4.00	4.00	2.00	2.00	2.00			
67	24/AE/039	NAITIK KARKHUR	B	B+	B+	B+	F	A+	A+	6.55	20	AEC8n

OIC (Results)

Controller of Examination

**Note:**Any discrepancy in the result in r/o name/roll no/registration/marks/grades/course code/title should be brought to the notice of Controller of Examination/OIC(Results) within 15 days of declaration of result, in the prescribed proforma.



**Delhi Technological University**  
(Formerly Delhi College of Engineering)

**THE RESULT OF THE CANDIDATE WHO APPEARED IN THE FOLLOWING EXAMINATION HELD IN NOV 2025 IS DECLARED AS UNDER:-**

**Bachelor of Technology(Mechanical Engineering With Specialization in Automotive Engineering), III-SEMESTER**

**Result Declaration Date : 12-Feb-2026**

**Notification No: 1932**

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Kinematics of Machines AE209n : Fluid Mechanics and Machines AEC5n : Communication Skills MS299n : Community Engagement (Mentoring School Students)												
Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	AEC5n	MS299n	SGPA	TC	Failed Courses
			4.00	4.00	4.00	4.00	4.00	2.00	2.00			
68	24/AE/047	PRACHI	B	F	B	C	B+	A	A+	5.42	20	AE203n

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Kinematics of Machines AE209n : Fluid Mechanics and Machines AEC8n : Music MS299n : Community Engagement (Mentoring School Students)												
Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	AEC8n	MS299n	SGPA	TC	Failed Courses
			4.00	4.00	4.00	4.00	4.00	2.00	2.00			
69	24/AE/050	PRATIBH KALITA	A	B	B+	B+	A	A	A	7.33	24	

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Kinematics of Machines AE209n : Fluid Mechanics and Machines AEC19n : Technical Communication MS299n : Community Engagement (Mentoring School Students)												
Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	AEC19n	MS299n	SGPA	TC	Failed Courses
			4.00	4.00	4.00	4.00	4.00	2.00	2.00			
70	24/AE/052	PRNAV RATHI	F	B	F	F	B+	A	A+	3.58	12	AE201n AE205n AE207n
71	24/AE/066	SHREYANSH RAI	A+	O	B	A+	O	O	A+	8.92	24	

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Kinematics of Machines AE209n : Fluid Mechanics and Machines AEC1n : Appreciation of Fiction MS299n : Community Engagement (Mentoring School Students)												
---	--	--	--	--	--	--	--	--	--	--	--	--

**OIC (Results)**

**Controller of Examination**

**Note:**Any discrepancy in the result in r/o name/roll no/registration/marks/grades/course code/title should be brought to the notice of Controller of Examination/OIC(Results) within 15 days of declaration of result, in the prescribed proforma.



**Delhi Technological University**  
(Formerly Delhi College of Engineering)

**THE RESULT OF THE CANDIDATE WHO APPEARED IN THE FOLLOWING EXAMINATION HELD IN NOV 2025 IS DECLARED AS UNDER:-**

**Bachelor of Technology(Mechanical Engineering With Specialization in Automotive Engineering), III-SEMESTER**

Result Declaration Date : 12-Feb-2026

Notification No: 1932

Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	AEC1n	MS299n	SGPA	TC	Failed Courses
			4.00	4.00	4.00	4.00	4.00	2.00	2.00			
72	24/AE/056	SAHUL SINGH	B	B	B+	C	B	B	A+	6.25	24	
73	25/AE/801	YUVRAJ NAGAR	A+	B+	A+	A	A	A+	A+	8.33	24	

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Kinematics of Machines AE209n : Fluid Mechanics and Machines MS299n : Community Engagement (Mentoring School Students) VAC20n : Sports I

Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	MS299n	VAC20n	SGPA	TC	Failed Courses
			4.00	4.00	4.00	4.00	4.00	2.00	2.00			
74	24/AE/060	SATYAM	A	B	B+	B+	A	A+	A	7.42	24	

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Kinematics of Machines AE209n : Fluid Mechanics and Machines AEC3n : Appreciation of Short Stories MS299n : Community Engagement (Mentoring School Students)

Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	AEC3n	MS299n	SGPA	TC	Failed Courses
			4.00	4.00	4.00	4.00	4.00	2.00	2.00			
75	24/AE/033	KRRISH KAUSHIK	A	B	B+	B	A	A+	A+	7.33	24	

AE201n : Quantitative Techniques AE203n : Thermodynamics AE205n : Machine Tools and Manufacturing AE207n : Kinematics of Machines AE209n : Fluid Mechanics and Machines MS299n : Community Engagement (Mentoring School Students) VAC5n : Emotional Intelligence

Sr.No	Roll No.	Name of Student	AE201n	AE203n	AE205n	AE207n	AE209n	MS299n	VAC5n	SGPA	TC	Failed Courses
			4.00	4.00	4.00	4.00	4.00	2.00	2.00			
76	24/AE/073	VARUN KUMAR	A	B+	A	A+	A+	A	B+	8.08	24	

OIC (Results)

Controller of Examination

**Note:**Any discrepancy in the result in r/o name/roll no/registration/marks/grades/course code/title should be brought to the notice of Controller of Examination/OIC(Results) within 15 days of declaration of result, in the prescribed proforma.



**Delhi Technological University**  
(Formerly Delhi College of Engineering)

---

**THE RESULT OF THE CANDIDATE WHO APPEARED IN THE FOLLOWING EXAMINATION HELD IN NOV 2025 IS DECLARED AS UNDER:-**

**Bachelor of Technology(Mechanical Engineering With Specialization in Automotive Engineering), III-SEMESTER**

**Result Declaration Date : 12-Feb-2026**

**Notification No: 1932**

**OIC (Results)**

**Controller of Examination**

---

**Note:**Any discrepancy in the result in r/o name/roll no/registration/marks/grades/course code/title should be brought to the notice of Controller of Examination/OIC(Results) within 15 days of declaration of result, in the prescribed proforma.